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QUESTION 1

A Campaign developer wants to create a drop-down listing cities. Which enumeration should they use?
A. Dbenum Enumeration

B. Free Enumeration

C. Set Enumeration

D. Open list Enumeration

Correct Answer: C

QUESTION 2

A diem wants to know which email addresses appear more than once in the recipient table. How would a developer
determine this?

A. Write a query that groups by email and then deduplicate the records
B. Write a query to aggregate by email and sum the primary keys

C. Write a query that counts primary keys and group by email

D. Write a query to filter by email address and group by primary key

Correct Answer: B

QUESTION 3

Which campaign variable gives the results of a target data count?
A. Vars.rec

B. Vars.count

C. Vars.recCount

D. Vars.targetData

Correct Answer: C

QUESTION 4
A Campaign developer needs to run a newly created campaign workflow. The workflow fails with the following error:

"The schema specified in the transition is not compatible with schema "nms:recipient” specified in the delivery - they
must be identical". Which steps should the Campaign developer take to resolve this error?
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A. Create a new target that matches the default schema of the workflow.

B. Unconditionally stop and restart the workflow.

C. Delete the email delivery and re-add it into the workflow.

D. Change the targeting dimension to the recipient schema prior to the delivery.
Correct Answer: A

Reference: https://experienceleaguecommunities.adobe.com/t5/adobe-campaign- classic/campaign-fromlist- not-linked-
to-recipient-table/td-p/307501

QUESTION 5

An Adobe Campaign operator is included in the Workflow Supervisors Operator Group, and is required to have
Administrator access for one week only. What would be the best practice to overload the operator\\'s existing rights?

A. Assign the admin named right

B. Remove all rights from the operator

C. Remove the operator from the Workflow Supervisors
D. Add the operator to the admin Operator Group

Correct Answer: C
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